Olympiad 2019
Class 5

Important Information

» All questions carry equal weightage.

» 10 minutes are provided for filling the OMR sheet and reading the instructions.

» Exam duration is 1 hour only.

> Please ensure that this question paper has 50 questions.

» ltisdivided into the following sections —
e For class 1st to 5th: Mathematics, Science, English and General Knowledge
e For class 6th to 10th: Mathematics, English, Science, General Knowledge and

Logical Reasoning

» Every question has one correct answer.

> Please read the instructions for answering given on the OMR sheet.

» Candidates must submit a completely filled OMR sheet before leaving the hall.

» There is no negative marking.

Section A — Mathematics

1. Rohan had 500 coins in a jar. He stored the coins in 25 different stacks. Each stack had
the same number of coins. How many coins are in each stack?
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.20
b 45
25
12
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2. There are 164 students in elementary school. The middle school has 38 fewer students
than in elementary school. The high school has 24 more students than in middle school.
How many students are in high school?

Ty o # 164 B § | U faemera & urufie faemera &t ga-m # 38 HH BT
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a. 155
b. 150
c. 102




d. 140

3. Find the lowest 6 digit number that can be formed using the digits 9, 6, 0, 2, 0, 5.

T HH 6 D! D TS J1d B O 9, 6, 0, 2, 0, 5 D! BT STANRT B T ST

Hd g
a. 650029
b. 965200
c. 006529
d. 200569

4. Rent of a bicycle for the first hour is X 10 and then every 30 minutes costs < 4 extra.
How much money does a person pay if he rents a bicycle for 4 hours 15 minutes?
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a. 242

b. 236

c. 234

d. 240

5. Mayank left home at 06:20 am for work. He returned home at 03:50 pm. How long was

he at work?
a. 8 hours 30 minutes
b. 9 hours
c. 9 hours 10 minutes
d. 9 hours 30 minutes

TA® BT & oY Yag 06:20 T TR ¥ MHAT| 98 QUG 03:50 Fof TR qiel| g foba
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a. 8%c 30 fHC

b. 9He
c. 9°c10fiAe
d. 9930 e




6. Weight of an empty tin is 1/6 kg. When it is filled with sand, it weighs 7/12 kg. Find the
weight of the sand?
TH Welt fed &1 aoH 1/6 fhal § 1 o/d g ¥d ¥ 4R I §, f 3BT doi 7/12
forenoma g1 81 X &1 aoi F1d Pifora?

5/12 kg

2/3 kg

1/2 kg
5/6 kg
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7. Find the perimeter of the given compound shape.

3 8 D snpfa o uRkfY I Bl
5 cm
-
F 3
5 cm
8 cm
h 4
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11 cm
a. 37cm
b. 38cm
c. 88cm
d. 90cm

8. Seven out of every 15 students of class 5 own a computer. There are 75 students in class
5. How many class 5 students do not own a computer?
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a. 40

b. 35

c. 30

d. 45

9. Sita has 2/5 of a pizza whereas Radhika has 7/10 of a pizza. How much more pizza does
Radhika have than Sita?
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. 9/10

E. 5/10

c. 3/5

d. 3/10

10. The population of town A is 46,874. The population of town B is 10 to the power 2 more
than the population of town A. What is the population of town B?

TER A P TG 46,874 8 | TR B BT STHUGAT XX A T SHEEAT BT o1 H 102
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a. 45874

b. 46,974

c. 45,974

d. 46,874

11. Represent the smallest 3 digit number made up from the digits 5, 0, 2 as a Roman
numeral.

JH 36 &b U H b 5,0, 2 W 91 JaA BIC 3 3{h! Bl TAT BT U B3 |
. CCL
g. CLLV
c. CCv
d. CCVX

12. For long distance call, a telephone company charges 30 paise per minute. What would be
the cost of a call for 4 minutes 24 seconds?

el g8 B! Bid & fOIE, T TAHHIA Hu-t ufafire 30 T &1 Yo adt g1 4 e 24
Tdg & folU HId B ARTd T gRI?

a. 2132

b. %1.20

c. 21.02

d. z1.40

13. A tank is full of 240 L of water. If one tank of water can fill 12 buckets, how many
buckets would be filled in 10 tanks of water?
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. 120
b, 200
c. 480
d. 240

14. A bus route is 4.5 Kilometers long. It does the complete route 3 times each day. How
many Kilometers this bus will cover in a week?

TS 9 AN 4.5 foraie’ da 8| 98 U & 3 9R Yol A1l &d1 3 | U Iwrg o
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a. 90.5Km

b. 94.5Km

c. 105 Km

d. 108.5 Km

15. Estimate the product. Round the first factor to the nearest ten, round the second factor to
the nearest hundred, and then multiply. 65 x 154 =?
The product is approximately

3G BT A T | Ugd PRSP Bl Hbead g T AT Y, G HRD B!
fRdcan Ot § YR &9, 3R f T[0T 65 x 154 =2
TG AT &

a. 14,000

b. 6,000

c. 8,000
d. None of these

Section B — Science

16. Male silkworm finds its female partner from many kilometers away by
a. Hersmell
b. Looking at her
c. Listening to the sound produced by her wings
d. The heat of her body
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a. 39D] Hgh
b. IgB! 3R TTDH




c. YD UGl gGRI I G Dl FAdhR
d. 3P IR B TH I

17. It looks like a bear but is not. It spends almost 17 hours a day sleeping while hanging
upside down on a tree branch. It lives for about 40 years and in that time moves around
only eight trees. The animal referred to in the above paragraph is

a. Monkey
b. Sloth

c. Bat

d. Gibbon
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a. dqi
b. T
c. IHGS
d. fissH

18. A small baby plant coming out of a seed is
a. Grain
b. Root
c. Dispersal
d. Seedling

it O e aTeT U B1eT a1 N1 8T @

a. AN
b. SIg

c. UaR
d. 3P

19. People in very cold places live in
a. Stilt house
b. Wooden house
c. lIgloo
d. House of mud
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20. Today, which human activity is responsible for endangering the greatest number of land
animal species?
a. Accidental starting of forest fires
b. Cutting wildflowers in national parks
c. Destruction of habitats
d. Hunting for food and sport
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21. The substance that makes plants green is known as —
a. Water
b. Chlorophyll
c. Carbon dioxide
d. Calcium
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22. Which of these is needed to measure the mass of a rock?
a. A balance
b. A barometer
c. A metric ruler
d. Thermometer
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23. Chlorine is added to the water in the swimming pools to
a. Sterilize the water
b. Clean the water
c. Enhance the water
d. Pollute the water
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24. Which of the following foods will remain fresh for 1-2 days when kept in a dry open
place?
a. Milk
b. Onion, garlic
c. Cooked rice
d. Spinach
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25. Which of the following circuit will not have flowing electric current?
a. Open circuit
b. Closed circuit
c. Series circuit
d. Parallel circuit

frafaied & 4 foo afdhe & faggd yare 78! g
a. gal gfhe




b. g Tfthe
c. s afde
d. THMIR gidhe

26. When an object is in motion, will change.
a. Position
b. Color
c. Size
d. Shape
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27. Which would be the best material to use, to make the handle of a tea kettle?
a. Aluminium
b. Wood
c. Glass
d. Iron
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28. For five nights in a row, Sachin has observed the same constellation. One of the bright
objects in the constellation seems to be moving out of place. What is the most likely
explanation for the moving object?

a. The object is really a shooting star

b. The object is a spacecraft orbiting the Earth
c. The object is a planet

d. The object is a reflection of a star
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29. A train moves 184 km in 4 hours. What is the speed of the train?
UH ¢ 4 °¢ T 184 fortfl et g1 <7 &1 1 1 82

21 km/h
46 km/h
188 km/h
736 km/h
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30. Which of the following is the best source of renewable energy?
a. Cattle
b. Petroleum
c. Coal
d. Trees
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Section C — English

31. Choose a CORRECT word to make the following a compound word: Base +
a. port
b. match
c. field
d. ball

32. What does the prefix “anti” mean?
a. Good
b. Against
c. Favorable
d. Half



33.

34.

35.

36.

37.

38.

39.

Which set of words will make a CORRECT compound word?
a. door + house
b. door + close
c. door + open
d. door + bell

Fill in the blank: “Vivek very fast but still didn’t win the race.”
a. Isrunning
b. rans
c. will run
d. ran

Find the adjective in the following sentence:
“The honest boy returned my wallet.”

a. Honest

b. Wallet

c. Boy

d. Returned

Spot the error in the sentence.

This doll / was my/ before | gave it to you. No error

(A) (B) (©) (D)

Spot the error in the sentence.

If a student is not well, / he must to stay home / and rest till he feels better. No error
(A) (B) (©) (D)
Find the incorrect sentence. If all are correct, mark none of these.
a. | will start my course on June.
b. He wore a shirt that came well below his knees.
c. Rahul was lying on the bed reading a book.
d. None of these

Find one sentence to complete the dialogue.

Teacher 1: You have got a list of students. How many of them are coming to the picnic?

TeACNEr 2: oo
a. ldon’t know.



b. | can’t see them.
c. lhaven’t got any.
d. None of these

40. She has been these classes since last year.
a. attends
b. attending
c. attended
d. attend

Section D — General Knowledge

41. Who invented the telephone?
a. lsaac Newton
b. Galileo
c. Alexander Graham Bell
d. J.J. Thomson
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42. How many states does India have?

HRA ¥ fpam I 87
a. 27
b. 28
c. 29
d. 30

43. Who is the defence minister of India?
Arun Jaitley

Nirmala Shantaraman

Amit Shah

Rajnath Singh

YR & &1 Tl I 82
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a. 30 Slea
b. TR AR
c. Ha e
d. oY &g

44, “Entomology” is the study of
a. Dinosaur
b. Reptiles
c. Insects
d. Ocean
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45. Name the biggest planet in our solar system.
a. Saturn
b. Jupiter
c. Uranus
d. Neptune

gHAR IRHST & oY §3 Ug BT 71 Farsy|

a. Qﬁ‘)—s’
b. gEHfd

c. 3feUlig

d. "gegd

46. Which gas commonly known as laughing gas?
a. Carbon dioxide
b. Calcium Oxide
c. Magnesium sulphate
d. Nitrous oxide

5T T &) MHAR TR AT 71 & =0 H ST ST 82

a. PIa SBANES
b. SR HFTZS




c. AR gahe

d. AEcY ™S

47. Which animal is called the ship of the desert?
a. Camel
b. Lion
c. Horse
d. Sheep
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48. Which is the largest country in the world based on the area?
a. USA
b. Brazil
c. Australia
d. Russia
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49. Which is the largest state in India based on the area?
a. Uttar Pradesh
b. Maharashtra
c. Madhya Pradesh
d. Rajasthan

AAHA & 3MYR TR HRA &1 Ja §371 AT B 7 82
a. SR UCY

. AR
c. HY

d. XIS



50. When is the Earth Day celebrated?

Tt fay e T I /2
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April 22"
March 21
June 21%
December 2™



